[image: image1.jpg]28,

HHE 2012 ENZREIRELW(Z

i

17,

€2) 40 L BRTE 10 3R o 503 F U8 . o= 12mm/h=

i
FX10 T m/s 4

FIf + Fy = Go B SmpRot Fap sk =

EaRE

oy T T
Nr=rerd

S L
N 2X (13X 10°kg/m' —1.0X10"ke/m') X 10N/ kg
10

(O D FER CNEfR A SR s
(2) YR Y 15C YR, = 2000, F2 4 085" b 0 3R

3x

2 Sy w4
L=20mA. R, 8 R, #¥.R R
=200Q=2000 @4

) TARRBL A 1 =S

COFFRMDE R, 54 1,32 10°) p Gk 0 T 1F

B LA (= T

(5) Ha A AL KB 2 o L
o Bk Y T R o B SRR JE S B R B
/A L K 5 T HF LR @4

C 2.D 3.C 4A 5D 6D 7.A 8C 9.B
. B

LABD 12.ACD 13.AC TLAC

5.3.20em 2.8N

A M

. Z T

18. M4 EHRE

19.4m KA

0.z #

214840 0.5kW - h

22.(65) AR RARRERE 5
(DQu=Cy my =1 =1.2X10']/Ckg + €)X 10kg
“ze=220)

(&3 3

L 2X10°)

2.

S =2800(5) @5
3. (6 43)

(1) W=FS=4800X1000=4, 8 X 10°(J) @34
Wy _Gh 10 - 20 4
@ g 000 =2 % [EP3)

AR RARRHRE 2
(54
ez
o
%ﬁa
L
@5 Fi AR 1
LR 1 | 2 3
v [
)
©a
@sa am
G4
_ RiR,
(DR =p g
12
@m
Ri=0.3AX200=6V am
0. 2(A) @5

JEf 7 R E TR T

G AP iFiF 1 S B0 S 5
SRt il A AR S B iE o BE G Y I 46 K 10 )
R ah i f Ko

(2B A TR K AT AR 0 B R A
L A 8 9 A

38 045 0 i S B K/ 5 A T KA KT
[CEL e

a. PR/VER A WUBHIREEAG B 0k R i AR B
il AR S, as
b AL/VER A DR R % G0 R R R KSR B




[image: image3.jpg]zhongkao®zm




[image: image3.jpg]                                                                               天津中考信息资源门户网站  tj.zhongkao.com

[image: image4.jpg]


[image: image2.jpg]27,

28.

MATHIBEE N S,

KBS 5S HAMKR
# S, =S, RUPR RIS W ERDT X
F S, S, RIW R BREK /N5 By KT K

(4

ash
[CE
15 300 PR O 88 B K L 6 /B8 400 48 0 it
X
QERER:

a. R T8 A 0 R s

b ARG LE/NPEAR TR — S i 09 K K 1
KN

. FHTAERAS R RIFG AT R AR MR R
HEREHR K b K Tl th L4 b A SRR AR . e RE K-
VWA m. .

(IR I

ox

WL G ERRETSRE | 4%
24

L ERBRAWS . B E A TR

2 EFHRT R R EER AL S 5. M0
AR .

SEMET AWM KRS RATRE L4, AR
fEtEs.

LEMMNH KR RAERAL 2 5.

@

wp=¥-Fo_p, am
@ 30km/h=Zm/s

F=P_LIXW0w ) yapn ash
MAREHFEBS  f~F=1.44X10°N ash
W=FS=1,44X10'NX2000m=2. 88 X 10" ] as

BRI BT M BTk

Go=Fs=puegVn

=1.0X10*kg/m’ X 10N/kgX 1800m' =1, 8 X 10'N
ash

BOKEH Fy=F =Gy

1L.2X10'N as

1.2-10'N

21210 10t asm
2012 FRIGHE KRB el £ %
AR Z)

LB 2.A 3B #A 5D 6B 7B 8D 9.C
10.B
LLAB 12.BD 13.AD 11.AC
15.30° 10°
16 EHRE HE
LKE MF
18.40 2,410
19.90L % BRI
0.4 k3
21Kk BIE
22640
Qemar am
=1.2X10')/kg » € X2 5kgX (100-20) C(1 49
=8.4x10'] am
W= Pi=1000W X 15X 605 =8 X 10°]
=2 asm
_8.4x107
TXT0]
=93.3% ag
25, CRES § 49
(W, =Gh=1NX0. 1m=0.1] @
(@)W, =FS=0.6NX0. 2m=0,12] @5
IR =% @
24,6640
e





天津中考网 tj.zhongkao.com 版权所有 谢绝转载  

